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Multiplication (Vertical) Name:
Solve each problem. Answers
H  7.114 2 4,210 3 9,642 4) 2858 X
X 4 X o) X 5 X 5 '
2.
3.
4.
5 3,814 6) 7248 ) 7,545 8 3,721 i
X 4 X 5 X 7 X 5 '
6.
7.
8.
9 6,450 100 2,568 1) 8,263 12) 1,705 .
X 5 X 7 X 9 X 5 '
10.
11.
12.
3 6,612 14) 9,939 15 5234 16) 6,636 .
X 5 X 8 X 3 X 6 '
14,
15.
16.
1) 5532 18) 5612 19 4,213 20) 7638 .
X 5 X 9 X 8 X 9 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical)

Name:

Answer Key

Solve each problem.

H  7.114
X 4

28,456

5 3,814

15,256

9 6,450

32,250

3 6,612

33,060

17) 5,532

27,660

2)

6)

10)

14)

18)

4,210

X 9
37,890

7,248

X S
36,240

2,568

X 7
17,976

9,939

X 8

79,512

5,612

X 9

50,508

3)

7)

11)

15)

19)

9,642
X 5
48,210

7,545

'52.815

8,263

74,367

5,234

15,702

4,213

33,704

4)

8)

12)

16)

20)

2,858

X 5
14,290

3,721

X 5
18,605

1,705

8,525

6,636

X 6

39,816

7,638

X 9

68,742

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

28,456

37,890

48,210

14,290

15,256

36,240

52,815

18,605

32,250

17,976

74,367

8,525

33,060

79,512

15,702

39,816

27,660

50,508

33,704

68,742
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